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B.Sc. 2nd Semester (General) Examination, 2023 (CBCS)

Subject : Botany
Course: CC-1B/GE-2
(Plant Ecology and Taxonomy)
Time: 2 Hours Full Marks: 40

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any five questions from the following: 2x5=10

(a) What do you mean by *Soil Profile’?
few @rwRa e
(b) Mention two important characters of physiological adaptation of halophytic plants.
A Sfgrd b AR wferemaTe Ay @l |
(c) What is ‘food web’?
AW G F 2
(d) What do you mean by ‘endemism’?
Endemism SICF 90717
(e) What is the difference between ‘hydrosere’ and ‘xerosere’?
‘Hydrosere’ '@ ‘Xerosere'-d & i12[@ 2
(f) What is ‘holotype’?
AR e
(g) What is ‘cladogram’™?
‘Cladogram’ 7

(h) What is the difference between ‘artificial’ and ‘natural’ system of classification?

iy ¢ afor EfRmeT seie Jie

2. Answer any rwo questions from the following: 5%2=10
(a) Briefly explain ‘energy flow’ within an ecosystem.
FRgerE Wy «lfe-2arg ATwee A A |
(b) Explain N, cycle in ecosystem.

AFOCE ABEE b A TR |
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(c) Mention the conditions of ‘valid publication’.
Valid publication-¢3 *%14f Srare vz

(d) Mention the role of palynology in Taxonomy.

fRIPRER palynology-a efie Trre @ |
3. Answer any mwo questions from the following: 10x2=20
(a) Briefly describe morphological and anatomical adaptations of hydrophytes,

weTs Efgwd morphological '@ anatomical SferarEm ! T I @ 545210
(b) What is plant succession? Describe various seral stages observed in hydrosere. Distinguish
between climax and sere.
“Plant succession’ $1¢ Hydrosere-a1 f3fen »rffmaf 356 w0t climax @ sere-¥ w¥f® Fi?
24642=10
(¢) Whatis *phylogenetic system’ of classification? Menti on different subclasses of Magnoliopsida
and Liliopsida of Takhtajan’s system of classification.
Phylogenetic (=fdf&mm™ ==ize & @raie Takhtajan-93 (=@ Magnoliopsida @
Liliopsida- fafen Subclass @r= e | 2+8=10
(d) What are the principles of ICN? Explain ‘principle of priority’ and its limitations.
ICN-«7 Sifesfd § F 2 “Principle of Priority’ © oz R AWREeIe iy @@
5+5=10



